Steadiness & Innovation in Motion control

SUNG-IL MACHINERY

PRODUCT CATALOGUE

S

SUNG-IL MACHINERY



SUPPORT UNIT
FOR BALL SCREW

Support Unit for Ball Screw (General Load)

= Structure and Bearing Combinations 208p
* How To Order 208p
= List of Bearings 209p
* Product Recommendation by Ball Screw Outer Diameters 209p
* Recommended Shape of Ball Screw Shaft-end 210~211p
Dimensions / Performance

* EK/EF Series 212~213p
* BK/BF Series 214~215p
* AK/AF Series 216p
* FK/FF Series 217~219p
= CK/CF Series 220p
* WBK Series (Miniature type) 221p

High-load Type Support unit
* Structure and Bearing Combinations / How To Order 222p
* List of Bearings 223p
= Dimensions / Performance [SWBK Series] 224p

Grease-Injection Type Support Unit
» Structure and Product Features / How to Inject Grease / How To Order 225p
= Recommended Shape of Ball Screw Shaft-end 226p
Dimensions / Performance

* BK-G Series 227p
* FK-G Series 228p

* SWBK-G Series 229p

* RN Series (General Load)
» 7N Series (General Load)
* HLRN Series (High Load)

D ————————————————

* SJU Series
* SBJU Series

= SBS Series
= SBD Series






SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

—— INDEX (SUPPORT UNIT FOR BALL SCREW)

Ball Screw Support Unit

GENERAL GREASE INJECTION
Series EK EF BK BF BK-G

Use for FIXED SIDE SUPPORTED SIDE FIXED SIDE SUPPORTED SIDE FIXED SIDE
Page 212p 213p 214p 215p 227p
NEES AK AF FK FF FK-G
Use for FIXED SIDE SUPPORTED SIDE FIXED SIDE SUPPORTED SIDE FIXED SIDE
Page 216p 216p 217-218p 219p 228p
Series CK CF WBK SWBK SWBK-G

FIXED SIDE FIXED SIDE FIXED SIDE
Use for FIXED SIDE SUPPORTED SIDE (MINIATURE) (HIGH LOAD) (HIGH LOAD)

Shape

Page 220p 220p 221p 224p 229p

Joint Unit

Shape

Page 230p 231p 232p 233p 234p 235p 235p




SUPPORT UNIT

SUPPORT UNIT OVERVIEW |

— SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW

Product Features

Product Classification

Fixed Side

General

Load

Square

Supported

Side

Round

High Load | Fixed Side | Round




SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW

Installation Guide

~ Installation of Support Unit with Ball Screw

. Mount ball screw onto fixed side support unit.
- Thesupportunitmust not be disassembled.
- Makesure the oil-seal ringis not folded when the shaft-end is
pushed towards the bearing.
- Fasten set-screws of lock-nut after assembling collars.
- Mounta nutbracket onto the nut of ball screw.

Hexagonal socket-head setscrew

[
al

]
=/

S

Snap-ring  Deep groove ball bearing Set piec

Lock-nut

1 E o

hﬂ g i}i:\\:u;_l .

110

Supportedside Fixedside  Collar 2. Mountthe deep groove ball bearing (of supported side support
unit) onto the ball screw shaft-end, and fix with a snap-ring to
secure and then insert the assembly to the housing of

. supported side support unit.

=Y
=)
ol
/ﬂ:
N

~  Assembly with the Table & Base
Table Nut bracket Fixed side

PP e Support unit 1. Assemble the table with the nut bracket of ball screw.

\: 2. Mountthe fixed side support unit temporarily with the base.

Ifthe fixed side support unitis used as a reference point, make sure
thereis clearance secured between the outer diameter of ball screw
nutandtable. (orinner diameter of bracket)

Ifthe table is used as a reference point, adjust height with shims for

7
]
!

(

‘ s /‘ square shaped support unit or secure clearance between outer and
| inner diameter of inserted area for round shaped support unit.
3. Mountthe supported side support unit temporarily with the
. base.
} , - CheckingAccuracy & Fastening Fully
Measure the axial Reciprocate table for smoother travelling
clearance throughout the whole stroke. Measurethe runout . )
—- = 1. Shiftthe table towards the center of the shaft and make it
CE ? '—S reciprocate between both ends so that motion is adjusted
runningin line as smoothly as possible.
P N=: . == g yasp '
B%ﬂ Base 2. Measurethe runout of the ball screw shaft-end and axial end-
‘ e, play by using a dial gauge. In the meantime, fully fastenin the
¢ following order, the nut bracket with the table, fixed side
support unit and base, supported side support unit and base.
Coupling - Connection with the Driving Motor
/ MotorBracket
Driving Motor ..
? / 1. Fully mount the motor bracket to the base accurately aligning
N ” / with the ball screw.

|
W 2. Connect the motorand the ball screw with a coupling.
— .
‘ S 3. Operate the motor trial-run at a slow speed to make sure the
( assembly is accurately done.

]
e

-
il
47
=]




SUPPORT UNIT

SUPPORT UNIT OVERVIEW |

SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW

Made-To-Order Process

Sung-il Machinery can conduct Made-To-Order processes (customization) upon our customer's requests.

i
-®
&
]
Low-temperature : . .
Standard Black Chrome Plating (Raydent) Stainless Steel Electroless Nickel Plating
Standard Made-To-Order
Material STEEL High Strength Aluminum Alloy
Stainless Steel
Surface Treatment Black Oxide Low-temperature Bls.ack Chrome Plating

Electroless Nickel Plating

Modified Design Completely New Design
(e.g. additional tapped-holes, changed height etc.) (according to special specifications)

+ Special grease options available forvacuum/
cleanroom purposes

+ Or,other grease can be applied upon request
(The specific grease modelnameis required in advance)

% Forthese Made-To-Order processes above, please contact Sung-il Customer Service team prior to firm order placement, in order to
discuss accurate specification/design.




SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

— SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

Structure

OilSeal ring

Deep Groove Ball Bearing SnapRing

Bearing Cover

Set Screw

Set Piece

Lock nut Body
8

Fixed Side Supported Side

= DF arrangement of angular contact ball bearing combinations

= Full ran%es with high accuracy without runout according to
adequate preload given in advance

* Prevention of foreign material and leak of grease by the inner
oil-seal rings

= Accompanied by a high accuracy lock-nut and collars(spacer)

= Accompanied by a deep-groove ball bearing and a snap-ring

Bearing Combinations

1. Arrangementtypes of angular contact ball bearing combinations

1) DBcombination (backto back): The large distance between the effective load centers resultsin
higher rigidity at the moment load. However if accuracy of housing is not enough, it may produce
damagee.g. flaking at a earlier stage due to the increased internal load. Preload is determined by
torque when the userfastens the lock-nut.

DF combination (face to face): The small distance between effective load centers limits bearing
capacity to sustain moment load, however it performs at a better level to absorb the margin of
assembly error. Preload is determined at maker’s assembly of bearing cover, thus this way allows
easier self-management for users.

e s

n

2. Standard arrangement type of Sung-il products is DF combination. distance

distance
% Inany case DB combination type is requested, please contact Sung-il Customer Service team DB *TDFT;
for further assistance.
How to Order
Fixed Side Supported Side
BK12 PO-C7 - BF12 -
Precision Surface
grade mark Treatment Treatment
Mark Bearing precision ‘ mark Surface Treatment
‘ (Fixed Side Only) grade FLACE .
‘ (Precision P5 P5 Medium ‘ @Surface no mark Black Oxide
grade mark B Treatment

‘ cs General Medium RA Low temperature Black Chrome
‘ PO-CT General Light Plating (Raydent)




SUPPORT UNIT

SUPPORT UNIT OVERVIEW |

SUPPORT UNIT

SUPPORT UNIT FORBALL SCREW (GENERAL LOAD)

List of Bearings (Fixed Side)

Bearing Inner

dia. (mm) ) P0-C7
FK4 AC-4-12-DF 63427
FK5 AC-5-14-DF 62577
“ FK6 T06ATYNDFMP5 | T06ATYNDFC8 60622
BK6 EN6
EK8 FK8 CK8 708ATYNDFMPS | 70BATYNDFC8 EN8/BA22-1
8 BKS EN8/BA22-1
AK8 708ATYNDFMPS
EK10 BK10 AK10 FK10 CKI0 | T7O00ATYNDFMPS5 7000AWDFM 7000AW
EK12 BK12 AK12 FK12 CK12 | TOOIATYNDFMPS5 7001AWDFM 7001AW
EK15 BK15 AK15 FK15 CK15 | T7002ATYNDFMPS5 7002AWDFM 7002AW
BK17 FK17 7203ATYNDFMP5 7203AWDFM T203AW
EK20 AK20 FK20 T204ATYNDFMP5 7204AWDFM T204AW
BK20 7004ATYNDFMP5 7004AWDFM 7004AW
EK25 BK25 FK25 7205ATYNDFMP5 7205AWDFM 7205AW
BK30 FK30 7206ATYNDFMP5 7206AWDFM 7206AW
BK35 FK35 7207TATYNDFMP5 720TAWDFM T207AW
BK40 FK40 7208ATYNDFMP5 7208AWDFM T208AW

List of Bearings (Supported Side)

Bearing Inner

dia. (mm) EF BF FF CF Bearing
[ o6 | EF6/EF8 BF6/BF8 FF6/FF8 CF8 60622
EF10 BF10 AF10 FF10 60822
EF12 BF12 AF12 FF12 CF10/CF12 600022
EF15 BF15 AF15 FF15 CF15 600227
BF17 FF17 620322
EF20 AF20 FF20 620427
BF20 600422

EF25 BF25 FF25 620527
BF30 FF30 620627
BF35 FF35 620722
BF40 FF40 620827

Product Recommendation by Ball Screw Outer Diameters

Ball Screw Outer dia. Fixed Side
(mm) EK FK
| oc  ET Fk4
EKS/EK6 | BK6 FK5/FK6 EF6 BF6 FF6
EK8 BK8 AK8 FK8 CK8 EF8 BF8 AF8 FF8 CF8
EK10 BK10 AK10 FK10 CK10 EF10 BF10 AF10 FF10 CF10
EK12 BK12 AK12 FK12 CK12 EF12 BF12 AF12 FF12 CF12
EK15 BK15 AK15 FK15 CK15 EF15 BF15 AF15 FF15 CF15
55 BK17 FK17 BF17 FF17
EK20 BK20 AK20 FK20 EK20 BF20 AF20 FF20
EK25 BK25 FK25 EF25 BF25 FF25
BK30 FK30 BF30 FF30
BK35 FK35 BF35 FF35

250~@55 BK40 FK40 BF40 FF40




SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

SUPPORT UNIT

SUPPORT UNIT FORBALL SCREW (GENERAL LOAD)

Recommended Shape Of Ball Screw Shaft-End (Fixed Side)

@Bh7
I
I
I
I
I
I
@An7
I
I
@d

—— L

Dimensions(mm) Lock-nut

I TS I " S AN S - M
nnmnn-mn--mn--mnn-mn-- (xPitch)

FK4 M4 x 0.5
s EK5| 25| 6 | 8 FK5|25] 6 | 8 RNS | M5x0.5
EK6 | 30 | 8 | 8 |[BK6 30| 8 | 8 FK6 |30 | 8 | 8 RN6 | M6x0.75

210-212 EK8 | 35| 9 | 10 |BK8|35| 9 | 10 AK8 30| 9 | 10 | FK8|35| 9 | 10 [CK8 34| 9 | 10 | RN8 | M8x1/0.75
210- 215 [l EK10| 36 | 15 | 11 |BK10| 39 | 15 | 16 |AK10| 36 | 15 | 11 |FK10 36 15 | 11 |CK10| 36 | 15 11 | RN10 [M10x1/0.75
OICEOIEES 12 | 10 |EK12| 36 | 15 | 11 |BKI2| 39 | 15 | 14 |AKI2| 36 | 15 | 11 |FKI2| 36 | 15 | 11 |CKI2| 36 | 15 | 11 | RNI2 | MI2x1

220 15 | 12 |EKI5 49 | 20 | 13 |BKI5 40 | 20 | 12 AKI5| 49 | 20 | 13 |FK15 49| 20 | 13 |CK15| 49 | 20 | 13 |RNI5 | MI5x1

| o MO
5 | 4
- I
| o0-02 G
| 010-015 REUNIE
| 014-015

7| 1 BK17| 53 | 23 | 17 FK7| 57 23 | 17 RNIT | M17x1

N 1 o e 25 17 B0 | 25| 16 AKI 64| 25| 17 PO 64| 25 | 17 RN20 | M20x 1
Sl 25 | 20 |EKS| 76 | 30 | 22 |BK25| 65 | 30 | 19 FK25| 76 | 30 | 20 RN25 | M25x 15

0 5 BK30| 72| 38 | 25 FK30| 72| 38 | 25 RN30 | M30x L5
B30 BK35| 83 | 45 | 28 FK35| 83 | 45 | 28 RN35 | M35x L5

@50 - @55 [URNIEE] BK40| 98 | 50 | 35 FK40| 98 | 50 | 35 RN40 | M40 x 15




SUPPORT UNIT

SUPPORT UNIT OVERVIEW |
SUPPORT UNIT FORBALL SCREW (GENERAL LOAD)
Recommended Shape Of Ball Screw Shaft-End (Supported Side)
A T | i
= o Il o
< © ;
[ | L] |
\ — Y
+0.14 |
GO -
+0.2
F O
R— E —
Dimensions(mm)
[ 4 | EF BF AF FF CF A E B F G
EF6 BF6 FF6 6 9 56 6.9 09
EF8 BF8 AF8 FF8 CF8 6 9 56 6.9 0.9
EF10 BF10 AF10 FF10 8 10 76 7.9 0.9
EF12 BF12 AF12 FF12 CF12 10 11 96 9.15 115
220 EF15 BF15 AF15 FF15 CF15 15 13 143 10.15 115
BF17 FF17 17 16 16.2 13.15 115
@25 - 928
EF20 BF20 AF20 FF20 20 19(16) 19 153501335 135
EF25 BF25 FF25 25 20 239 16.35 135
BF30 FF30 30 21 286 17.75 175
45 BF35 FF35 35 » R 1875 175
BF40 FF40 40 23 38 19.95 195

% Thevaluesin brackets are for model no. BF-20.




SUPPORT UNIT

| EK SERIES

SUPPORT UNIT . EK SERIES 7™#2

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

EK4 ~ EK5

2-@X Drill Thru

EK6 ~ EK8 A

2-@X Oill Thru | | |

H1

)
N ©)
s TEY

Additional note for [EK-25] ) m»\

\2-g78

DITQ =

Drill Thru
15 15 4-11

10

Dimensions

Sizes (mm)

ey el
L4 L5

dl | L L1 L2 L3 | B | H [b£0.02(h£002| B1 | HL | P | X | Y VA aT

4 |15 55 17518537234 19 17 | 10 18| 7 |26 45 - - | 10 45354535 50
5 |165/55/65 195 35|36 |21 | 18 | 11 |20 | 8 | 28 |45| - | - | 11 |55/455.5/45 68
6 20| 55 | 2 |35 4|25 20 13182/ 3 55/95/ 11 125 | 7|10
8 | 3| 71 % | 4 52|32 26 | 1725|238 |66/11| 12 14 |55 175 230
1024 6 | 2056|7043 35 253624 529 -] - 16555540
22| 6 | 295 | 6 70|43 35| 25|36 24|59 -] - 1955|5540
15025 6 | 3 |5 8|50 4 30|42 6 11 - - 210 10]50
20 4| 10 | 5 | 10|95 58|475| 30 56 25|75 11| - | - | 30 | 11 | 11 | 1310
2548 13 | 59 | 14 105 68 525 35 66 25 85 <Se§g?eeaafﬂét’“a' 35 | 14 14 | 1950

% Only EK-4 and EK-5 have different dimensions according to the bearing grade (P5/P0-C7).




SUPPORT UNIT

EF SERIES |

SUPPORT UNIT : EF SERIES 72

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

EF6~EF8

2-@X Drill Thru |
‘ Rl
2
) \
i
EF10~EF25
2-@X Drill Th E
i\i ~\ i‘i . EE::
| | | | |
Il i i | | l

Dimensions
Sizes (mm)

Mass | Snap- :
(g) fing Bearing
6 | 12 4 | 25 | 21 | 13 | 18 | 20 | 30 | 55 95 | 11 | 120 | C6 | 6062Z
EF8 6 | 14 5 | 32 | 26 | 17 | 25 | 26 | 38 | 66 | 11 | 12 | 230 | C6 | 60622
8 | 20 | 70 | 4 | 35 | 25 36 24 | 5 | 9 - - 430 | 8 | 608z
0 20 | 70 | 4 |35 | 25| 3 | 24 | 5| 9 - - | 40 | cwo | 60002z
15 20 | 8 | 50 | 4 | 30 | 4 | 25 | 6 | 9 - - 50 | c15 | 60022z
20 | 26 | 95 | 58 | 475 | 30 | 56 | 25 | 75 | 11 - - | 1310 | 20 | 62042z
EF25 25 | 30 | 105] 6 | 525 35 | 66 | 25 | 8 | 11 | - - | 1950 | c25 | 620522




SUPPORT UNIT

| EK SERIES

SUPPORT UNIT . BK SERIES 7™

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

BK6 ~ BK8

2-@X Drill Thru | |
#Y C'BORE DP Z

L2 L3
4 L5

S

[ N
I s
- Lf

=2

H
041
rh

H1

| |
o
|
| |
| |
| |
| |
| |
Ll

BK10 ~ BK40
4-@X Drill Thru B“ N

®Y C'BORE DP Z @(7 @‘ )‘
el e o
AN AMIMIE
|
Vany}
NA
1

4-@d2 Drill Thru |

Dimensions

Sizes (mm)

Spacer(collar) @

H [b+o02lht002] B1 | H1 z

6|25 |24]4|52(32] 26|17 |25|26]-138]-]-|-les|u|e]|2] s |5 |20

BKS 8237 |26]4|52(32] 26|17 |25/26]-38|-|-|-166/11]6]|14]55]75]20
1025529 5/ 60|39| 30 | 22 |34(325 15 46| 13| 6 55|66 /108 5|16 5 | 5 | 360
12/25 529|560 43 30 | 25 3435 18|46 13| 6 55|66(108 6 19| 5 | 5 |39%0
15276 32| 6 |70/48] 35 | 28 |40]38] 1854 15| 6 |55/66/11| 6 2] 6 | 6 | 530
17/35| 9 |44 7 8 |64 43 | 39 |50 55 28|68|19 8 |66 9 148524 7 | T 1210
20358 43 8|8 60 44| 34 |52/5 22 70]19|8 66/ 9 14/85/30 8 | 8 1650
254212 54| 9 10680 | 53 | 48 |64 |70 33 8| 22|10 9 |11 175 11|35 9 | 9 2310
3045 14 61| 9128/ 89| 64 | 51 |76 78 33 102/ 23|11 11|14 201340 9 | 9 3330
35|50 14 | 6712|140/ 96| 70 | 52 |88 |79 |35 114 26|12 11|14 20|13 |50 | 12 | 12 | 4380
40 61|18 76| 15160 110 80 | 60 |100| 90 | 37 |130| 33 | 14| 14 | 18 | 26 175 50 | 15 | 15 | 6670




SUPPORT UNIT

BF SERIES |

SUPPORT UNIT : BF SERIES 72

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

BF6~BF8

2-@X Orill Thru
@Y C'BORE DP Z

.

L“
!
|
\

ﬁ}

T T
| ‘ |
P
S
| |
| ‘ |
[
| |

H1

IS

|
|
—
-
|
|
|
|
b

\
‘
P
B

BF10 ~ BF40

2-@X Orill Thru |
@Y C'BORE DP Z
TN

4-@d2 Drill Thru

Ly

Fos A~
AN

B1

(

\

H1

@d1

Dimensions

Sizes (mm)

14 | 52 | 32 26 17 25 | 26 - 38 - 66 | 11 | 12 120 C6 60627

20 | 60 | 39 30 22 34 1325 15 | 4 | 55 66 | 108| 5 260 C8 60877
10 20 | 60 | 43 30 25 34 | 35 | 18 | 46 | 55 66 | 108 | 6.5 270 C10 | 6000ZZ
15 1 20 | 70 | 48 35 28 40 | 38 | 18 | 54 | 55 | 66 | 11 | 65 310 C15 | 6002ZZ
17 | 23 | 8 | 64 43 39 50 55 | 28 68 | 66 9 14 | 85 680 C17 | 6203ZZ
20 | 26 | 83 | 60 44 34 52 | 50 | 22 | 70 | 66 9 14 | 85 710 C20 | 60042z
25 | 30 | 106 | 80 53 48 64 | 70 | 33 | & 9 11 | 175 | 11 1340 C25 | 6205ZZ
30 | 32 | 128 | 89 64 51 76 | 78 | 33 | 102 11 | 14 | 20 | 13 1880 C30 | 620677
35 | 32 | 140 | 9% 70 52 8 | 79 | 35 |14 | 11 | 14 | 20 | 13 2080 C35 | 620777
40 | 37 | 160 | 110 | 80 60 | 100 | 90 | 37 | 130 | 14 | 18 | 26 | 175 3100 C40 | 62082z




SUPPORT UNIT

| AK/AF SERIES

/N

SUPPORT UNIT : AK/AF SERIES 7%

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

AKS8 ~ AK20

n=@X Drill Thru L4 L5
@Y C'BORE DP Z Il
i
LD | - mlﬁﬁmm —
4-gd2 orill Thru | Ly 2 F" - - AT T I KA
! o |z S B Ay
[Vany < —
i
L L ] 1
| |
Loz
L1 L
Dimensions

Sizes (mm)

I I F n
81203 245 4 5232 26 | 17 12526 10 4 38| - |10 55/ 2 |66 11|12 14 4 | 4 | 190
BYSUIN 10 24| 6 205 6 7043 35 | 25 [36]35/15 4 52| - 1266 2| 9 |14/11 16 55 | 55 450
OGP 12 24 6 205 6 |70 43| 35 | 25 3635 15 4 52 - 12066 2 9 14 11 19| 55 | 55 440
BEERN 15 25| 6 |36 5 (8050 40 | 30 [41]40 |15 4 |60 - 12566 2 |11|17/15/ 22| 10 | 10 | 570
20421050 10 95|58 475| 30 5645 - | - |75 22 10| - | 411171530 11 | 11 |1400

AF8 ~AF20

2-@X thru
@YC'BORE DP Z z

4-0d2 thru

Sizes (mm)
N}Z?s Snap-ring| Bearing
b£002 | h+002 F

AF8 6 |15|5 32| 26 | 17 25 26 10| 4 |38 55 66|11 | 12| 130 6 | 6062

8 20|70 43| 35 | 25 36 35 15| 4 |5 66 9 |14 11| 320 8 | 6082z
10207 4] 3 | 25 3635|154 5 66 9| 14|11 330 Cl0 | 6000zZ
15208 |50 | 40 | 30 |41 |40 | 15| 4 60 66| 9 |14 | 11 | 370 C15 | 600222
20295 | 58|415] 30 [s6]45 - - 5] - 111715 660 20 | 620422




SUPPORT UNIT

FK SERIES |

SUPPORT UNIT : FK SERIES 72

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

E 4-@X Orill Thry
@Y C'BORE DP Z

@0 g6

T2

[ Install Method A] [Install Method B ]

FK10~FK30

P — 4-@X Orill Thiu
L4 L5 @Y C'BORE DP Z

Ir

20 g6
@adi

F HolL
L

[ Install Method A [Install Method B ]

x Additional note for [FK-30]
In case of choosing “Install Method B”, size of spacer(collar) needs to be accordingly changed. Please contact Sung-il Customer Service team for more details.

Dimensions

Sizes (mm)

Body Spacer(collar)

Install Method AlInstall Method B

R -
Er -
K8 8

15

6 | 9 22|18 32|24 25 55 | 32| 65 | 43 |34 6
16.5| 6 105/ 24 | 20 | 34 | 26 | 26 |5.5/6.5 35 | T7/6 | 5/3 | 3.4 6/6.5

7

9

4 | 10 45/35/45/35 40
4 | 11 55/455.5/45 50
13129122 /36| 28|28 55| 35| 85 45 34|65 4 |12| 7 5 65
34/65| 4 14| 75 | 55 | 125

4

4

6

23 14335 28 4335 /3 7| 4 | 10] 5

102710171295 34 | 52| 42 |42 | 75 | 5 | 85 | 6 |45 16 | 55 | 55 | 200
1227 1017 (29536 | 54| 44 44 75 | 5 | 85| 6 |45 8 19| 55 | 55 | 225
1532|1517 3640|635 |5 10| 6 | 12| 8 |55|95 2| 10| 10 | 340
1745 | 22 23 46 50| 77 62]61] 10 9 | 3] 12 66/11/0/24 9 9 |70

FK20 20 | 52 2230 5 |57 8| 70 | 68| 8 10 12 14 |66| 11|10 30 11 11 | 1065
FK25 25 | 57 |27 | 30 | 60 | 63 | 98| 80 | 79 | 13 10 20 17 | 9 | 15|13 |35 | 15 15 | 1465
FK30 30 623032 61|75 117 9 |93 11 12 21 18 | 11 |175/ 15 40 | 9 9 | 2300

% Only FK-4 and FK-5 have different dimensions according to the bearing grade (P5/P0-C7).




SUPPORT UNIT

| FK SERIES

SUPPORT UNIT . FK SERIES 72

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

FK25D, FK30D

6-¢ X Drill Thru

3Y C'BORE DP Z|

@D1

@D2 g6

]

f.\,,‘;‘ @

4
\N
))

oy
2
s,

AR @\
y: ‘!».-‘\\
® ;4= OF@®

!r\
2

©)
(¢

=
7\_‘

@A

St

T

L4

@D1
@di

202 g6

L1

Dimensions

Model

Bo
di | L H F E | Dl |D2| A

Sizes (mm)

P.CD

dy
CD| B

L1 | T1 | X Y Z | 0T

Spacer(collar)
L4 L5

25 4| 15|27 52 8 |8 122 100 92 12| 10|11 | 18 | 11 35 10 10 | 2500
30 | 45 | 15| 30 | 59 | 96 | 90 | 138|116 | 106 | 14 | 11 | 11 | 18 | 11 | 40 | 11 11| 3500
35 | 48| 16 | 32 | 67 | 112100 | 154 132|120 14 | 12 | 11 |175 11|50 @ 12 12 | 4080
40 | 61 | 18 | 43 | 76 | 126|120 | 176 | 150 | 128 | 18 | 16 | 14 | 20 | 13 | 50 | 15 15 | 6750




SUPPORT UNIT

FF SERIES |

SUPPORT UNIT © FF SERIES

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

/N

HS 2

FF6~ FF30

4-¢X Drill Thru

"

—
)

DA
Cc
pdl
T
|
wj(gs

BliE]

~
=

gee

Sizes (mm)

ESS

(g)

Snap-ring| Bearing

H F C. z

FF6/FF8 6 0 | 6 4 | 2 | 3% | 28 | 28 | 34 65 3 30 C6 60622
8 i) 7 5 28 | 43 | 35 | 35 | 34 | 65 | 4 60 8 60872
10 | 15 7 8 | 34 | %2 | 4 | £ | 45 | 8 4 100 C10 | 60002z
15 | 17 9 8 4 | 63 | 50 | 5 | 55 | 95 | 55 140 C15 | 60022z
17 | 20 1 9 50 | 77 | 62 | 61 | 66 | 11 | 65 290 Cl7 | 62032z
20 | 20 | 1 9 57 | 8 | 70 | 68 | 66 | 11 | 65 380 C20 | 620427
25 | 24 | 14 | 10 | 6 | 98 | 8 | 719 9 14 | 85 590 €25 | 620522
30 | 27 | 18 9 75 117 | 95 | 93 | 11 | 175 | 1 930 C30 | 62062z

FF25D, FF30D o GHORE DP 2 o

@0 g6

FF35, FF40 8-¢X Drill Thru S

?Y C'BORE DP Z

Dimensions

Snap-ring| Bearing

25 3 | 15 15 & | 12 100 9 | 11 | 18 11 | 1400 €25 | 620522
30 | 32 | 15 | 17 | 9 | 138 | 116 | 106 | 11 | 18 | 11 | 1800 30 | 620622
35 | 34 | 15 | 19 | 100 | 154 132 | 120 11 | 175 | 11 | 2050 35| 620722
40 | 3 | 18 | 18 | 120 | 176 150 | 128 14 | 20 | 13 | 305 | C40 | 620822




SUPPORT UNIT

| CK/CF SERIES

/N

— SUPPORT UNIT - CK/CF SERIES (Low-Centered Type) S

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

CK8 ~ CK15

2-@X Drill Thru

#Y C'BORE DP Z \

|
|
|
[
SO
| \
|
|
|

Dimensions

Sizes (mm)
Spacer(collar)

X
8 215 4 | 265 35 62| 31 | 31 155 46 11 | 9 | 14 18 | 14 | 6 6 260
1026 295 6 | 7038 |3 |25 12914191655 55 ] 43
12 24| 6 205 6 70 38|35 20 5 129 |14 19 19| 55| 55 | 430
15 25 6 |38 | 5 | 8 | 4 | 40 | 2 60 125 11 | 17 | 23 2 | 10 | 10 | 540
CF8~CF15
2-@X Dirill Thru
#Y C'BORE DP Z
| | L
ST =
| | | | {
[ [ 5 I N
T Qe
n e o]
b \ |
P L
B
Dimensions
Sizes (mm)
Snap-ring Bearing
b002 | h+0.02 X
6 | 16 | 6 | 31 | 31 | 155 46 | 9 | 14 | 18 165 c6 60622
CF10 002 | 70| 3 |3 | 2 5| 9 | 14| 19 285 C10 600022
02 7038 |3 | 20 5 | 9 | 14|19 285 c10 600022
15 20 | 8 | 42 4 2 e | 9| 14 2 355 c15 600227




SUPPORT UNIT

WBK SERIES |

SUPPORT UNIT : WBK SERIES winauwetyel 722 ()

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

WBKO04, WBK06

2-3.4 Thru A

@c
w
@D1 % 45

% Make sure the lock-nut is fastened fully due to frequent detachment of flange shaped miniature ball bearing.

% Spacer(collar) are mounted on the body at release for the loss prevention.

Dimensions

Sizes (mm)
Body Spacer(collar)

D1 D2 E F G H W T M
13 125 9 5 5 25 19 10 M4X0.5 | @8X@4X1-1EA

18 17 11 5 6.8 25 24 12 M6X0.75 |@9.1X@6X1 - 1EA




SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

— SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW (HIGH LOAD)

Support Unit For Ball Screw (High Load)

Structure

Bearing Cover Housing

Housing

Set screw

‘ Set Piece

e Lock nut Body

Oil-seal ring
-

.

Spacer(Collar)

Bearing Combinations

DF Combinations DFD Combinations DFF Combinations

XH o] — NXHGFFO] — e XHotofolo] —
— [T /R il
o 1 A T 1 [ T I - A
Lo . A0l VN Lo . A VN [ Al VN
b fyHolox—-—-— o frHololohg—-— bafxrolololofg—-—-—
Howto Order
SWBK25 DFD -
Combinations | Treatment
‘ mark combinations ‘ mark Surface Treatment
‘ (Bearing DF Double-row @Surface no mark Black Oxide
Combinations A Treatment
‘ DFD Triple-row RA Low temperature Black Chrome
‘ DFF Four-row Plating (Raydent)




SUPPORT UNIT

SUPPORT UNIT OVERVIEW |

SUPPORT UNIT

SUPPORT UNIT FORBALL SCREW (HIGH LOAD)

Support Unit For Ball Screw (High Load)

List of Bearings

: R JEfe | [l Preload Axial Rigidity | Starting Torque
Bearing Load Load
(N) (N) (N) N/Ilm (N-cm)

Bearing
Combinations

DF 17TAC4TC 23,000 26,600 1,450 630 14
DFD 17TAC4TC 37,500 53,000 1,970 930 19
DF 20TAC47C 23,000 26,600 1,450 630 14
DFD 20TAC47C 37,500 53,000 1,970 930 19
DF 25TAC 62C 29,900 40,500 2,280 850 21
DFD 25TAC 62C 48,500 81,500 3,100 1,250 28
DF 30TAC 62C 30,500 43,000 2,400 890 23
DFD 30TAC 62C 50,000 86,000 3,260 1,310 30
DF 35TAC72C 32,500 50,000 2,750 1,030 27
DFD 35TAC 72C 53,000 100,000 3,740 1,500 34
DFF 35TAC 72C 53,000 100,000 5,490 2,060 43
DF 40TAC 72C 33,500 52,000 2,860 1,080 28
DFD 40TAC 72C 54,000 104,000 3,900 1,590 36
DFF 40TAC 72C 54,000 104,000 5,730 2,150 46




SUPPORT UNIT

| SWBK SERIES

SUPPORT UNIT : SWBK SERIES 72

SUPPORT UNIT FORBALL SCREW (HIGH LOAD)

SWBK17,SWBK20 SWBK 25, SWBK 30 SWBK 35, SWBK 40
v v v
8- X Drill Thru
15° #Y C'BORE DP Z
& I50 . 6-¢ X Drill Thru S —
¥ % o8 ~—% [ovCBoRE OPZ 2
) ~ 7o % ZNN
-\~ 3
b : N =
¢ ¢ ¥ e
a 7 o
g 8 : L3 5 + AR
a / o / ] =
©
) —
4-M5 TAP DP10 : 4-M86 TAP DP12 g)/ 4-M6 TAP DP12 ~
P.C.D 958 hoth-sided process P.C.D # 70both-sided process P.C.D #80both-sided process
B
B

DF Combinations DFD Combinations DFF Combinations
v

v v
E T E T E T
L5 L4 LS* L4 L5 L4
D ‘QJ =]
XHOTO IXIH-OROFOS XHOHOTOR
© © ©
é i | N - é i 1 N - é | M -
W 8 A W 8
RoL0] FOLOIOT FOfOLo1O
D
H|_F H| F H| F
L1 L L1 L L1 L
Dimensions

Sizes (mm)

Spacer(collar)
L4 L5

pcol B L[ x [ v ]z

17 47 15 32 6 15 72 70 106 8 | 8 | 13 | 9 14 85 15 | 15 | 1900
17 |62 15|47 | 78| 15| 72| 70 |106| 88 | 8 | 13| 9 | 14 | 85| 15 | 15 | 2300
0 4715 %2 63|15 2] 7 106 8|8 13| 9 14|85 15| 15 190
20 | 6 | 15| 47 | 78| 15| 72| 70 106 8 | 8 | 13| 9 | 14|85| 15| 15 |2250
25 | 51 | 18| 33 | 68 | 18 | 9 | 8 | 130 | 110 | 100 15 | 11 | 175 11 | 18 | 18 | 3100
25 | 66 | 18 | 48 | 83 | 18 | 90 | 8 | 130 | 110 | 100 | 15 | 11 | 175| 11 | 18 | 18 | 3400
30 | 51 | 18 | 33 | 68 | 18 | 90 | & | 130 | 110 | 100 15 | 11 | 175 11 | 18 | 18 | 3000
30 | 66 | 18 | 48 | 8 | 18 | 90 | 85 | 130 | 110 | 100 | 15 | 11 | 175 11 | 18 | 18 | 3300
35 | 51 | 18 | 33 | 68| 18 | 102| 95 | 142 | 121 | 106 15 | 11 | 175| 11 | 18 | 18 | 3400
35 | 66 | 18 | 48 | 83 | 18 | 102 | 95 | 142 | 121 | 106 | 15 | 11 | 175| 11 | 18 | 18 | 4300
35 | 66 | 18 48 | 98 18 | 102 | 95 | 142 | 121 | 106 | 30 | 11 | 175 11 | 18 | 18 | 5000
4 | 51 | 18 33| 70 | 18 | 102| 95 | 142 | 121 | 106 | 15 | 11 | 175| 11 | 18 | 18 | 3600
4 | 66 | 18 | 48 | 85 | 18 | 102| 95 | 142 | 121 | 106 15 | 11 | 175| 11 | 18 | 18 | 4200
40 | 66 | 18 | 48 | 100 | 18 | 102 | 95 | 142 | 121 | 106 | 30 | 11 | 175| 11 | 18 | 18 | 5700




SUPPORT UNIT

SUPPORT UNIT OVERVIEW |

SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW (GREASE-INJECTION TYPE)

Structure

Grease Nipple

Housing

. Oilseal ring

Bearing Cover
pacer(Collar)

Lock Nut

Bearing

[ BkG W FKG W SWBKG |

Advance design with a nipple being attached and a passage carved on the
bearing cover for a easier grease refill

Prevention of foreign material and leak of grease by the inner oil-seal rings
Accompanied by a high accuracy lock-nut and collars(spacer)

Features of BK-G, FK-G & SWBK-G Series

How To Inject(Refill) Grease

While a Support Unitis mounted, you may
inject grease through the nipple on the Support
unit body, rotating the ball screw slowly.

Inject grease through the nipple

Rotate ball-screws
slowly

How to Order
BK17-G P0O-C7 -
grade mark | Treatment
Mark Bearing precision grade = Preload mark Surface Treatment
(@Precision  P5 P5 Medium @Surface no mark Black Oxide
grade mark cs General Medium Treatment RA Low temperature Black Chrome
PO-C7 General Light Plating (Raydent)




SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW (GREASE-INJECTION TYPE)

Recommended Shape Of Ball Screw Shaft-End (Fixed Side)

@Bh7

@An7
I

—— L

@d

Dimensions(mm)

Lock-nut

__m
-““m.---m--- (MxPitch)

225 - @28

240

225 - @28

230 - @36

240

@50 - @55

BK17-G FK17-G RN17 M17x1
20 17 BK20-G 65 25 17 FK20-G 73 25 17 RN20 M20x 1
25 20 BK25-G 80 30 20 FK25-G 86 30 20 RN25 M25x 1.5
30 25 BK30-G 87 38 25 FK30-G 87 38 25 RN30 M30x 1.5
35 30 BK35-G 3 45 28 FK35-G 3 45 28 RN35 M35x 1.5
40 35 BK40-G 114 50 35 FK40-G 114 50 35 RN40 M40 x 1.5
Dimensions(mm) Lock-nut
SWBK Size
-ME-- (MxPitch)
3
SWBK17-G 23 22 HLRN17 M17x1
DFD 108
DF 93
20 17 SWBK20-G 25 24 HLRN20 M20x 1
DFD 108
DF 98
25 20 SWBK25-G 30 25 HLRN25 | M25x 15
DFD 113
DF 98
30 25 SWBK30-G 38 25 HLRN30 | M30x15
DFD 113
DF 101
35 30 SWBK35-G DFD 116 45 20 HLRN35 | M35x 15
DFF 131
DF 106
40 35 SWBK40-G DFD 121 50 32 HLRN40 | M40x 15
DFF 136




SUPPORT UNIT

BK-G SERIES |

SUPPORT UNIT . BK-G SERIES

SUPPORT UNIT FOR BALL SCREW (GREASE-INJECTION TYPE / GENERAL LOAD)

BK17-G ~ BK40-G

L2 3
<,
< L4 L5
B1 G2
4-@X Drill Thy .
@Y C'BORE DP Z a
&} /("\\ f AN ~]

[

‘\

4-@d2 Drill Thru

H1

[EEANCAEEAN
E

8] L

Dimensions

Sizes (mm)

SIWNEER 20 1 3520 | 55| 8 (83|60 | 44 | 34 |52/50(22 7019 8 |66 9 | 14|85 30 85 16| 20 8 | 1400

25 4223 68| 9 106/80 53 48 64|70 33 85 22 10| 9 1117511 35 8519 23 | 9 | 2600
30| 45 2157745 9 12889 | 64 | 51 76|78 33 102/ 23 |11 11 14 20|13 40 85175 225 | 9 |3600
355021 77|12 140 9% 70 |52 88|79 35 114 26 12|11 14 20 13 50 85 17 22 | 12 | 4800
BRIZEE 40 | 61|27 92515 160110 80 | 60 |100| 90 |37 130 33|14 14 |18 |26 |17.5/50 |85 23| 3L5 | 15 | 7400




SUPPORT UNIT

| FK-G SERIES

SUPPORT UNIT . FK-G SERIES

SUPPORT UNIT FOR BALL SCREW (GREASE-INJECTION TYPE / GENERAL LOAD)

FK17-G ~ FK30-G

T1 E
L4 L5 4=@X Drlll Thru r
#Y C'BORE DP Z
G o
o == A
7 ) —E
= _ e = NI
% —J 2 ! e e -
19 E S ]
£ n = - o o O
L

<A-A> [ Install Method B]
[ Install Method A |

x Additional note for [FK-30]
In case of choosing “Install Method B, size of spacer(collar) needs to be accordingly changed. Please contact Sung-il Customer Service team for more details.

L]
d

@D gé
=
i

Dimensions

Sizes (mm)
Body Spacer(collar)

A |p.c.p| 0B | MethodA | Method B

5513223 /5 |5 | 77|62 |61 10 9 13|12 66|11 20|24 |85 16| 9 19 | 1100

¢ I

N rll 20 61 |31 /30 59|57 85| 70 68| 8 10 12|14 66| 11 19|30 85| 15| 11 | 20 | 1400
25| 65/35|30 |68 6398 80 |79 13|10 |20 | 17| 9 | 15|21 |35 85 17| 15 | 23 | 1800
30 69.537.5 32 |745| 75 117] 95 | 93 | 17 | 12 | 17 | 18 | 11 175|225 40 | 85 185 9 | 225 | 2700

FK35-G ~ FK40-G

|
i
= i
r T \ ‘ e
1
””” |
Dimensions

Sizes (mm)

FK35-G 3548 | 16 | 32 77 | 112 | 100 | 154 | 132|120 | 24 | 12 | 11 175 11 | 50 35| 16 | 12 22 4700
FK40-G 40 | 61 | 18 | 43 |92.5| 126|120 | 176 | 150 | 128 |25.5| 16 | 14 | 20 | 13 | 50 | 6.5 |17.5| 15 | 315 | 7300




SUPPORT UNIT

SWBK-G SERIES |

SUPPORT UNIT - SWBK-G SERIES

SUPPORT UNIT FOR BALL SCREW (GREASE-INJECTION TYPE / HIGH LOAD)

SWBK17-G ~ SWBK40-G

"\w”m-w-\“ ‘\\w/// IO N — ey P o
RN A s e e 7 ¢

7 727 L N7 S . N\ 72
A i A

N -

Dimensions

Sizes (mm)

N
SWBK17-G-DF 17 |47 /15132 |76 | 15|72 |70 106| 88 58 80 | 26

X
9 |14 85 M5 10 35 17 15 | 28 | 2300
BIEEERY 17|62 |15 47 9115|7270 106 88 | 58 |80 26| 9 |14 85 /M5 |10 /35|17 15 | 28 |2700
9
9

204715 32|76 15 72|70 106 88 | 58 |80 |26 1485 M5/ 10 (3517 ] 15 | 28 | 2300
206215 47|91 15|72 |70 |106| 88 | 58 |80 |26 1485 M5/ 10 |35/ 17| 15 | 28 | 2700
25 5118 33|78 18 90 |85 130] 110 | 70 |100| 25 |11 175 11 M6 |12 25|16 | 18 | 28 | 3700
BNl 25 |66 | 18 |48 93 | 18|90 | 85130 110 | 70 |100|25 |11 175 11 |M6 | 12 |25 16 18 | 28 | 4300
EElEacaal 30 |51 |18 33|78 18|90 |85(130| 110 | 70 |100| 25|11 [175/ 11 |M6 | 12 |25 16| 18 | 28 | 3600
ENEIE Rl 30 |66 |18 |48 |93 |18 |90 |85 (130 110 | 70 [100|25 |11 [175 11 |M6 |12 |25 |16 18 | 28 | 4100
35 51 18 33|79 18 102195 142 121 | 80 (10626 |11 |17.5 11 M6|12 55|17 | 18 | 29 | 4300
35 |66 18 |48 |94 |18 |102|95 [142| 121 | 80 |106|26 | 11 |17.5 11 |M6| 12 |55[17 | 18 | 29 |5000
35 66 18 |48 |109 18 (102|195 142 121 | 80 |106|41 |11 |17.5 11 'M6|12 (55|17 | 18 | 29 |580
TR 0 |51 |18 33 81|18 102]95|142| 121 | 80 |106|26 |11 175/ 11 |M6 |12 |55 17 | 18 | 29 |5000
BTl 40 |66 |18 48 96 18 10295 142 121 | 80 (106 26 | 11 175/ 11 M6 |12 |55 17| 18 | 29 | 6000
B RSla 40 | 66 | 18 |48 11118 102 |95 [142| 121 | 80 |106 41 |11 175 11 |M6 12 55 17 | 18 | 29 | 7200




LOCK-NUT

| RN SERIES

—— LOCK-NUT : RN SERIES 72

LOCK-NUT (GENERAL LOAD)

Dimensions
Fastening Mass
L . (g)
M4X05 | M3X05 11 85 5 27 10 16 4
RN5 M5X05 | M3X05 13 9 5 27 11 2 5
RN6 M6X075 | M3X05 145 10 5 27 P 25 5
_ M8 1 M3X0.5 17 13 65 4 14 5 8
M8X075 | M3X05 17 13 65 4 14 5 8

RN10 M10X1 M4X0.7 20 15 53 16 93 10

8

HORONETE] M10X0.75 M4X0.7 20 15 8 55 16 9.5 10
8
8

M12X1 M4X0.7 2 17 55 19 14 14
M15X1 M4X0.7 25 21 45 2 2% 15
MITX1 | M4x07 30 25 13 9 % 35 17
M20X1 M4X0.7 35 2% 11 7 30 48 35
M25X15 | M5X0.8 03 3 15 10 35 86 45
M30X 15 M6 1 48 39 20 14 40 128 80
M35X15 | M8X125 60 46 21 14 50 192 130
M4OX15 | M8X125 63 51 25 18 50 256 235




LOCK-NUT

ZN SERIES |

/N

— LOCK-NUT - ZN SERIES 7%%2

LOCK-NUT (GENERAL LOAD)

=3 e L” -
g @d
(o]8)
Dimensions
Model Sizes (mm) F.:al\_zt%ndzg Mass
T M D d L t B H (N.m) (e
MSXLO | 2-MAX0T @ 16 12 8 4 3 2 7
M8X0.75 | 2-M4X0.7 | 16 12 8 4 3 2 5 7
MIOXLO | 2-M4X07 | 18 14 8 4 3 2 95 9
NOORED] M10x075 | 2-M4x07 | 18 14 8 4 3 2 95 9
MI2XLO | 2-M4X07 | 22 16 8 4 3 3 14 13
MISXLO | 2-M4X07 | 25 19 8 4 3 3 2% 17
MITXLO | 2-M5X08 | 28 21 10 5 4 3 35 25
M20X10 | 2-M5X08 | 32 25 10 5 4 3 48 33
M25XL5 | 2-M6X1 38 31 P 6 5 3 86 54
M30XL5 | 2-M6X1 45 38 12 6 5 3 128 7
M35XL5 | 2-M6X1 52 45 1 6 5 3 192 103
M4OXL5 | 2-M6X1 58 50 14 7 6 3 256 143




LOCK-NUT

| HLRN SERIES

LOCK-NUT : HLRN SERIES

N\

N
LOCK-NUT (HIGH LOAD)
-
Mii L

HLRN20 ~HLRN40

[o]]

D2

Dimensions

N\ AV M17x1.0

Sizes (mm)

Fastening
Torque
(N.m)

DI M20x1.0

N\ VI M25x1.5

[N\ CCI M35x1.5

i RNEIEE M40x1.5

Mex6 = 18 | 30 | 37 18 5 125 | 30 41
Méx6 | 21 | 30 | 38 | 10 | 18 | 43 4 | 29 45
Méx6 | 26 | 35 | 4 | 11 | 20 | 43 | 4 | 325 87
Méx6 | 31 | 40 | 48 | 11 | 20 | 43 | 5 | 405 105
Méx6 | 36 | 47 | 53 | 11 | 20 | 43 | 5 | 455 145
Mex6 | 41 | 52 | 58 | 12 | 2 | 43 | 5 | 505 160




JOINT UNIT

SJU SERIES |

— JOINT UNIT - SJU SERIES 7™#2

JOINT UNIT (SUPPORT UNIT MOUNTED TYPE)

o yan @
N 4-M2 TAP DP ¢
4-R5
Pep
T 5 I = ﬁi
% e s s o I =
2] == ‘ :
) B
L :
€} JanY
A
m L
B2 B1
B2 61 -
2-c2 w2
N N
collar @ _ -\ﬁi
a g
, Q
©
] | B & /®
ool M e 11 i — / §
AN = S \
TN fastening nut M1 ® /g o g
I O Hu
'
x| x2 | vi]v2 From B Side

®

% This product structurally minimizes the assembly error as the connected surfaces to both ball screw and servo motor are included in an one-piece component.
% The P.C.D values of motor-connected area is different by servo motor model, so please check the motor specifications in advance.

Dimensions

Sizes (mm) Mounted

SJU-8A 45 | RNg | M3 8
8167/ 9/3028/12(21/64|41/19/43/40 10 12|12| 6 |47|52/40|35| 5 |14/55/6.5 55 FK8
SJU-8B 46 | (M8) | g4 10

SJU-10A 45 pN10 M3 8
10/74/10(30 34|14 25|70 46 23 46 4210 14|14 7 |54 56|42 42|55 16 5.5 8 6.5 FK10
SJU-108 46 |[(M10) M4 10

SJU-12A 45 |pN12| M3 8
12/74|10130(36|15|25| 7247|2346 44| 10| 14| 14| 7 |54|58| 44|44 5516 /5.5 8 6.5 FK12
SJU-128 46 (M12)) g 10

SHIVRIRES 151 97| 155040203198 61/26/63/62|13|17 18 9 |71/80 62|52 8 |18/10| 8| 70 (Rlvll\l1155) M5 | 85 13 FK15




JOINT UNIT

| SBJU SERIES

JOINT UNIT - SBJU SERIES 7%2

JOINT UNIT (GENERAL TYPE)

J ‘ ) 2-c2
é o -@ 4-M2 TAP DP 2
= o®
. & -
8 F@ 1" B
[ } 3
J g| =7
o @ i
‘ T1 ‘ L From A Side
B2 81
B2 81 wi
N1 N2 w2
g 8 @ @
B 8 Wﬁj N 8 _a = @
R e = :
£ mu©E R
X1 X2 |Yl|y2 From B Side

% This product structurally minimizes the assembly error as the connected surfaces to both ball screw and servo motor are included in an one-piece component.

% The P.C.D values of motor-connected area is different by servo motor model, so please check the motor specifications in advance.

Dimensions

Model Sizes (mm)

D2 D3| E| F|H1|H2| J | K| L NI|N2| Q| S |T1|T2|W1|W2|XL1|X2|Yl|Y2|P.CD| Ml

M2

P B
2 | RNg | M3 8
8 7316.5/30| 27112121 | 64411942 4010(19 12| 12| 6 |47|52 4034 7.5/ 14|55/6.5 55
SBJU-8B (22) 46 | (M8) | M4 10
SBJU-10A 45 | rN10 | M3 8
10/7916.5/30| 26 14 25|70/ 4623|4442 10 21 14|14 7 |54 /56 42/36/5.5 16 5.5 8 6.5
SBJU-10B 46 (M10) | g4 10
SBJU-12A 45 | anp | M3 8
12/7916.5/30| 28 [15/25 /72|47 23 44| 44|10| 21 14| 14| 7 |54 |58 4436|5516 5.5 8 6.5
SBJU-12B 46 | (M12) | g 10
CENUBER 1511056550 | 32 (2031 98 61|26 16562 13(23|17/18| 9 |71/80 6240/ 10(18/10/ 8 | 70 (RMNIISS) M5 | 85 | 13




SUPPORT UNIT

BEARING UNIT |

— BEARING UNIT 4

BEARING UNIT

SBS Series

2 BY 4-M
counterbore d1
= depthH1
| 5| jctg:
@il
s [A]
-

Dimensions

Sizes (mm) Bearing

B M
8 | 2 | 7 | 4 | 3% | 12| 18| 3 | 5 | 43 | 8 | 44 60822
0 | 26 | 8 | 50 | 39 | 13 | 2 | 40 | 5 | 43 | 8 | 44 600022
| »8 8 | 52 | 4 | 13 | u | & 5 | 43 | 8 | 44 600122
5 0 %2 | 9 | 6 | 46 | 14 | 28 | 48 | 6 | 52 | 95 | 54 600227
17 | 40 | 12 | T2 | 54 | 18 | 34 | 60 | 6 | 52 | 95 | 54 620322
20 | 42 | 1 | m | 59 | 18 | 3 | 64 8 | 68 | 1 | 65 600422
5 | 5 | 15 | 9% | 2 | 2 | 4 | 18 | 10 | 85 | 14 | 86 620527
0 6 | 16 | 104 79 | 23 | 55 | 88 | 10 8 | 14 | 86 620622

SBD Series ©EI

_He
s T
w T—EHs!
,,@ =
Bl& T8 s
oo T
S [A]
B84 T
L
0.01
Dimensions
Model Sizes mm) Bearing
d B L H OK dh P.C.D d2 dl H1

T
SBD-8 7 25 45 36 8 18 35 43 8 44 | 6087z
SBD-10 8 30 50 39 8 22 40 43 8 4.4 1600027
SBD-12 8 30 52 40 8 24 42 43 8 44 | 600127
SBD-15 9 35 60 46 10 28 48 52 o5 54 | 600227
SBD-17 12 45 72 54 10 34 60 52 9.5 54 |6203zZ
SBD-20 12 45 7 59 11 36 64 6.8 11 6.5 |6004ZZ
SBD-25 15 45 94 T2 13 45 78 85 14 86 | 620527
SBD-30 16 50 104 79 13 55 88 85 14 86 | 620677






